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PART A: Vocabulary

Directions. Choose the word or phrase (1) , (2) , (3), or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

1- You might not be thinking about cholesterol yet, but high levels of cholesterol increase

YOUr ......cceenn. of heart disease, so find out what your level is now.

Drisk 2) level 3) strength 4) exposure
2- With the ............... of the Internet, working from home has become a real
phenomenon.

1) demonstration 2) credibility 3) advent 4) dexterity
3- The teacher was gratified to see two older students ................ to settle the
playground dispute between a number of third and fourth graders.

Draise 2) encourage 3) promote 4) intervene
4- Even though the unemployment rate continues to ............ , voters are still unhappy
with the president’s economic plan.

Drestore 2) abandon 3) abate’ 4) delay

5- Her maudlin display of tears at work did not impress her new boss, who felt she should
try to control her ............

1) emotions 2) secrets 3) errors 4) restrictions
6- The heavy rain did not ............ , 50 they cancelled their camping trip.

1) emerge 2) evaporate 3) subside 4) collapse
7- Whitney is ........... about her shoes, arranging them on a shelf in a specific order,
each pair evenly spaced.

1) spectacular 2) fastidious 3) conscientious 4) conventional
8- This agreementisvery ............ and open to various interpretations.

1)intentional 2) diverse 3) superficial 4) ambiguous
9- Because our instructor was so unclear, | had to continually ask himto ............ and
repeat what he was saying.

1) justify 2) clarify 3) emerge 4) improvise
10- Because of the chef’s .......... cooking style, his food is easily identified in a taste test.

1) experimental 2) filexible 3) distinct 4) constant

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1) , (2) , (3) , or (4) best
fits each space. Then mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory,
you would not be able to drive to work, hold a meaningful conversation with your childern.
(11) ........... a book or prepare a meal.

Memory has fascinated humans since (12) ........... ; Plato famously compared our
memory to a wax tablet that is blank at birth (13) .......... on the impression of the events
from our life. Only in the past hundred years, though, (14) ............. systematic objective

techniques that have enabled us to study our recollections of the past with scientific
accuracy and reproducibility . These range from laboratory tests of our ability to remember

verbal and visual materials (15) .............. more recent brain-imaging approaches.
11- 1) then read 2) reading 3) toread 4) read
12- 1) ancient times 2) ancient time 3) timeof ancient  4) times of ancient
13- 1) slowing taking 2) to slowly take 3) and dowly takes  4) that owly takes
14- 1) psychologists have devel oped 2) have psychologits developed
3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4) to
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